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The reindeer left the North Pole at 5:45 PM and arrived at the first house at 7:00 PM. How long was the flight?


�





There are 18 gifts in the sack. If Santa wants to share them equally with Patty and her two brothers, how many gifts will each child receive? Explain the steps you used to solve.








Mrs. Claus baked six pans of cookies. Each pan had seven cookies. How many cookies did Mrs. Claus bake? Draw a picture and explain the steps you took to solve.


�





The elf wrapped 542 gifts on Monday and another 378 gifts on Tuesday. How many more gifts did he wrap on Monday? How can you check that your answer is correct?


�





There were 54 boys and 47 girls on the Polar Express. Estimate the number of children on the train by rounding to the nearest ten. Explain why someone might want to round before adding.
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